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General Instructions :

(i) The question paper has 30 questions in all. All questions are
compulsory.

(ii) Marks for each question are indicated against the question.

(iii)  Questions from serial number 1 to 9 are Multiple Choice Questions.
Each question carries 1 mark.

(iv)  Questions from serial number 10 to 21 are 3 marks questions. Answers
of these questions should not exceed 80 words each.

v) Questions from serial number 22 to 29 are 5 marks questions. Answers
of these questions should not exceed 120 words each.

(vi)  Question number 30 is a map question of 5 marks (2 marks from
History and 3 marks from Geography).

(vii)  Attach the filled up map inside your answer-book.
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Which one of the following statements is correct regarding ‘sectional

interest groups’ ?
(A) They promote collective rather than selective good.

(B)  Their principal concern is betterment and well being of their

members, not society in general.
(C)  They aim to help groups other than their own members.

(D) They do not seek to promote the interest of a particular section or

group of society.

g gEas T e w1 feferfiaa o & orges i o 7 1
(A)  iteha el
(B) WY =g & |

(C) AR Al H8®
(D)  weTeH meh

Who, among the following was the author of the famous book ‘Hind

Swaraj’ ?

(A)  Shaukat Ali

(B)  Subhas Chandra Bose
(C) Jawahar Lal Nehru

(D) Mahatma Gandhi
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fafafaa Tsai 9 @ forg A “STarmene’ afe hl @H fera @ 7

(A) FREUE

(B) TSRAM
(C) fo=R
(D) HEAYR

In which one of the following States are the ‘Balaghat’ Copper mines

located ?

(A) Jharkhand
(B) Rajasthan
(C) Bihar

(D) Madhya Pradesh

TS AT T TSHiTdeh 6 ol gA1a A g/ fefafaa gioensti 4 9
& = glaen yem i St § 7

(A) U H AW

(B) T o feTw et

© gafm

(D) HYU-93

Which one of the following facilities is offered by the ‘Election
Commission’ to a recognised political party ?

(A) Party name

(B)  Election funds

(C)  Election symbol

(D) Manifesto
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(B) Ik forepra ol wraifel W e
(C)  ATiefeh THWAT i ¥ A H Gl
(D) A T g T SR o foTt GerH

Which one of the following is an example of outcomes of a democracy

that produces an accountable Government ?

(A)  Open to public debates on major policies and legislation
(B)  Open in promoting economic development

(C)  Open in reducing economic inequalities

(D)  Open to rulers elected by the people

6. Trfafea # @ auds womam w adt s FA AR 7 1
(A) IT S ¥ IUR T TS el TR &
B) =t 4 sur & 7 gmut
(C) I FoleR hi UH! Trgfd 8, TSTEest IUFIT 98 LWl ol T e &
9§ AT 2
(D) =R H fawr i 718 gt
Which one of the following is the appropriate meaning of collateral ?
(A) Itis the sum total of money borrowed from banks
(B)  The amount borrowed from friends
(C) Itis an asset of the borrower used as guarantee to a lender

(D) The amount invested in a business
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fafafaa & @ 9 @1 gred faesfl samr ofr faesft few & Serieo w

A a1 27

(A) SIS o1 i
(B)  AqUEHE ¥ TS
(C) Tova @y wea
(D) Tova =R "Ea

Which one of the following organisations lays stress on liberalisation of

foreign trade and foreign investment ?

(A)
(B)
(®)
(D)

International Monetary Fund
International Labour Organisation
World Health Organisation

World Trade Organisation

1845 B facifien # st g0 3haRi & Raets fogie s o1 ffafaa o

T i 91 J&T T o ?
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Which among the following was the main reason for the weavers to

revolt against contractors in Silesia, in 1845 ?
(A)  Contractors reduced their payments drastically
(B)  They stopped the supply of raw materials to them
(C)  They refused to place orders for finished textiles
(D) Condition of weavers was very pitiable

Or

Which among the following was the main reason to start the ‘Tonkin

Free School’ in Vietnam ?

(A) To provide ‘Western Style Education’
(B) To provide ‘Modern Education’

(C) To provide ‘Science Education’

(D) To popularise the ‘French Language’

famforfiad @ 9 o9 91 =01 k1 U= Eid © 7

(A) =T
(B) HEHRI Gl
(C) i
(D) T o graefi

Which one of the following is a formal source of credit ?
(A) Traders

(B)  Cooperative societies

(C)  Money-lenders

(D)  Friends and relatives

[P.T.O.
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ettt ) et wea & fore fafesr yemem gmn e o foR e
TUHRT IUTAT T IU I, |

Describe any three suppressive measures taken by the British

administration to clampdown on nationalists.

Alehdd <hl SfaddT & SHEENT o fohE TehR ST leh TF-e & 7 SIIfeAferdT oh
ATt 3 TISTeRTT o REaTh TR I 3aTET od §U, T8 ST |

How are popular struggles integral to the working democracy ? Explain

with an example of Bolivia’s struggle against privatisation of water.

Jaifered g0 fafsa &t & o a3 s Imed % ufd e TR
Tfdfsran =<k i ? TE HifSy |

YT

1926 H foam # &MH Afa Tod el H T 1 AR i 38 Gl
BHT 7 T8 HIWT |

How did the local people in the areas conquered by the Napoleon react

to French rule ? Explain.
Or

Why did a major protest erupt in 1926 in the Saigon Native Girls School

in Vietnam ? Explain.

IRA o IW-Yl TsAl § TR AR K R WAHRar & S g 7
Y HINT |

Why is air travel preferred in the north-eastern states of India ? Explain.

3x1=3

3x1=3



14.  forsfl wieshi o 9d § 37 o RO Sd18y | 6xY2=3

Give reasons for which foreign tourists visit India.

15. Slhdifieh GUhR fohd TehR e 9ehR & &9 8§ ST ) @ ¢ 3=t gfed
Tee i | 3

How is democratic government known as responsive government ?

Explain with an example.

16. TST & ToHifeeh o’ 3 TE g’ 1 A=rar & fof, @ S g
Trtfia w1t o Scor@ i | 1Va+1V5=3

State the conditions as laid down by the Election Commission to

recognise a ‘State Party’ and ‘National Party’.

17.  ‘walewef e gefs fowrs vl @ |7 foheel diF qeal i samean iy
ST gataite frefentor <t Tk § Ueeh B Gehd § | 3x1=3

‘Environmental degradation has been seen everywhere’. Explain any

three values that can help to prevent environment degradation.

18. 3udiFar faamel o fuer & fou Greadim =l 93 form yeer wenfua femanm
TR 7 T I | 14141=3

How has a three tier quasi judicial machinery been setup for redressal of

consumer disputes ? Explain.

19. < Senl & A1 fohe TR SIS BId €, ITTEN |fed Tug hifsr | 3

Explain with examples, how people are involved with the banks.
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IR TR g faeeft s o faesf fae w9 ufdery il ge a9 =
g1 feu e § ¢ wyw fifee |

Why have the barriers on foreign trade and foreign investment been

removed to a large extent by the Indian Government ? Explain.

MefSH o STTIR TR o o= it smen Fife |

Explain the idea of Satyagraha according to Gandhiji.

vefiertor 1 wifshem § ST Swraf s ofireRt Trm hif |

Explain the role of multinational corporations in the globalisation

process.

IRd o “TaaadT G I sht sfireRt shi 3aTedvn afed T8 Hifv |
Explain with examples the role of industrialist in the freedom struggle of

India.

Y SR TENT TH-gE o [ © || die SATeUN Hid T8 I |
“ “‘Agriculture’ and ‘industry’ are complimentary to each other”. Explain

with five examples.

IUTFATST 1 ISR ° TR TR TNoor 2iar @ ¢ foRdl i aeat |fed

s IS |

How does exploitation of consumers take place in the market ? Explain

with any five facts.
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@S 1 &I R AT § 7 WS o SR o fohedl =R 3Um shi
T hIfSTT |

Why is conservation of minerals essential ? Explain any four measures

to conserve minerals.

QAeha ol HTed ST o T 313 Tie T ITeh R sy |

Suggest any five political reforms to strengthen democracy.

AT o AR o1 FoN QR forea o rehad STt o fofw foRe SeRR ST =Rt |
CEIRESEEDIE 1l

How has the struggle of the Nepali people become a source of

inspiration to democrats all over the world ? Explain.

Jaifera grr s1ae TRt @t o 31% foru T forel uier amafsren wa wemafen
T ht e i |
3tera

e g &S § SySieh Wi % e i fefd s % fote 33t ™
3T 3 TR T I BT |7 Ieokd R ohl SIRedT ShifSH |

Explain any five social and administrative reforms introduced by

Napoleon in the regions under his control.
Or

“The measures taken by the French to control the spread of bubonic

plague in Hanoi created a serious problem.” Explain the statement.
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(30.1)

(30.2)

(30.1)

3 AT A IR B 9 & fou U geifaes War-amfes | sifea
forg U 2 | 39 deon o fEfaiad SR Y gee 9 yg=nu
3R 379 Tt 9, AT W= 7 WErsti w fafa

(A) T8 TH wE fasr 1920 d wRdE TE wEE o
TR g T |

(B) @8 TIM W&l 1918 H Hel HUST HR@H o TIGU

TS TR foham T o |

W o 3T TSI (@1-"HE § Fefiiad s 3uged el 9
3RS 3T Ik T feAfa :

() Toam-<er o e T
(i)  PITER-F T& TN Fex
(i) T Gl - AU oS g

Two features A and B are marked in the political outline map
of India. Identify these features with the help of the following
information and write their correct names on the lines marked

in the map :

(A) The place where the Indian National Congress Session

was held in September 1920.

(B) The place where the cotton mill workers Satyagraha

was organised in 1918.

12
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(30.2)

On the same political outline map of India, locate and label

the following with appropriate symbols :
(1) Bhilai - iron and steel plant
(i1)  Coimbatore - cotton textile centre

(iii))  Raja Sansi - international airport

e Frafafad g Fea g whenfdat & fou w1 @@ 30 &
TIFAWE

32/1/3

(30.1)

(30.2)

(30.3)

(30.4)

(30.5)

39 T T T FA15Y, STET fewr 1920 H HRATE T HEH i
SR 3T o |

T 1918 H Il FHUST FREMHI & ASIGU = TRT TIH W TR
TRE foram ot ¢

foraTs SreT STR 3eaTa wod fopg T | fera @ 7

34 TSI 1 T FaTsy, s srermsiet get o e fRm 2 |

ST HiET AT BT Tge foh R H fdra ® 7
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Note : The following questions are for the BLIND CANDIDATES only in
lieu of Q. No. 30. :

32/1/3

(30.1)

(30.2)

(30.3)

(30.4)

(30.5)

Name the place where the Indian National Congress Session

was held in December 1920.

At which place did the cotton mill workers start the
Satyagraha in 1918 ?

In which state is Bhilai iron and steel plant located ?

Name the state where Coimbatore textile centre is located.

In which city Raja Sansi international air port is located ?
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